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mix mix � 	 
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C V dT

T T S d I � � �

C S T I I d

Σ

= =

ρ ⋅ =
α − ⋅ τ − ρ ⋅ τ +

 
+ ⋅ τ 

  
∑ ∑
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M P M C RT
= =

 
ρ = +   

∑ ∑ 4*5
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i j i j

C M P M P P P
= = = =

   
= + +         

∑ ∑ ∑ ∑ 4&5
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C S I I T d

S d I H

= =

=

ρ ⋅ = ⋅ τ + α − ⋅ τ −

 
+ ⋅ τ − 

  

⋅ τ ∆

∑ ∑

∑

4-5
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ln
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VP V

V

d P H

d T R Z

∆
= −

∆
4<5
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( )3 0,51 1V C BGZ P T ∆ = −  � 4,5
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2,3 lg
1 ,B C V C C

V�
C B C B

RT T K P T
H

T T P T

  
∆ = ⋅ −  −     
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 ≤ ≤= 
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∆ = × − 
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( ) ,p p
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������������������
����������	�������
�������������������

������

����
������

( )
0
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P
p p
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� � P P

� � Z
T d P

R T T

 −  ∂ ∂ = −  ∂ ∂   
∫ 4$&5
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.

p

pT p

� H RT Z

P P T T P P

 ∂  ∂ ∂ ∂   = =  − ⋅      ∂ ∂ ∂ ∂ ∂       
4$-5
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 � �� �� ��I S d I C d V dC⋅ τ − ⋅ τ = ⋅ 4$%5
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1 2 .� 	 �� � 	 �� �� �	I S d I C d V dC⋅ τ − ⋅ τ = ⋅ 4$<5
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1 1

,i

 �

m nj i
i

j ij i

C I
I

C C
M

M M

Σ

= =

=
 

+   
∑ ∑

� � 2 .nI APΣ = 4$,5
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0 .i i iP X P= 4$'5
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( )0 ln .i i iP A B T= − 4$=5
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( )ln .i i i iP X A B T= − 4*(5
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( ) ( )2

ln
ln .i i i i

i i i i

X B A B T
P dT X A B T

T

−
∆ = ⋅ + − 4*$5
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.i i iP M RTρ = 4**5

;���������������������������������!	������ 4**5� 
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2
.i i i

i i
M P M

d dP dT
RT RT

ρ = ⋅ − ⋅ � 4*&5
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( )

( )

2

2

ln

ln

ln .

i i i i
i

i

i i i

i
i i i

X B A B T
dTM

d T
RT

dX A B T

M
dT X A B T

RT

 − 
⋅ + ρ = − 

 + − 

⋅ ⋅ −

4*-5
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( )1 .i iD SB 
 �
D

m m S I dx
τ

= − τ ⋅∫ 4*%5
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1 1
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